“Roll No.

stions are compulsory.
estion paper has five sections and 33 questions. All questions are compulsory.
tion-A has 16 questions of 1 mark each; Section-B has 5 questions of 2 marks each;
on-C has 7 questions of 3 marks each; Section-D has 2 case-based questions of
arks each; and Section-E has 3 questions of 5 marks each.
2 is no overall choice. However, internal choices have been provided in some
ions. A student has to attempt only one of the alternatives in such questions,
erever necessary, neat and properly labelled diagrams should be drawn.
g SECTION-A ;
mnants of nucellus are persistent during seed development in: (1)
' (b) groundnut
_ (d) black pepper
ll iayer of microsporangium which nourishes the pollen grain is: (1)
: (b) endothecium
dle layers | (d) tapetum
hort piece of DNA, having 20 base pairs, was analyzed to find the number of nucleotide
bases in each of the polynucleotide strands. Some of the results are shown in the table.

Number of nucleotide bases. ;
Adenine Cytosine Guanine Thymine
4 ~ 4
ow many nucleotides containing Adenine were present in strand 2? (1)
5 (d) 7
a certain species of insects, some have 13 chromosomes, and the others have 14
)mosomes, The 13 and 14 chromosome beanng organisms are 1)
1ales and females, respectively (b) females and males, respectxvely
I males ~ (d)all females

A particular locus, the frequency of allele A i is 0.8 and that of allele a [s 02. What v
the frequency of heterozygotes in awanéﬁm mating popul l S 3
0.32 g population at eqm}u!iq‘ 4 .i? /(11 =
by 0.5, e
‘ d) 048
b) random »-a,ﬂ;?,_ej
d) random, s

iations caused due to mutations are
ndom and directionless
idom and small



. What is the smallest part of a DNA molecule that can be changed by 2 pont
e -3 Oligonucleotide b) Codon
N c) Gene d) Nucleotide .
B s A patient was advised to have a kidney transplant. To suppress the immune reacti
doctor would administer him: '
(a) statins produced from Monascus purpureus.
(b) statins produced from Streptococcus thermophilus.
(c) cyclosporin A produced from Trichoderma polysporum.
(d) cyclosporin A produced from Clostridium butylicum. _
9. Which of the following water samples in the table given below, will have a higher

concentration of orginic matter? (1)

Water sample Level of pollution Value of BOD

a High High

b Low Low

c Low High

d High Low

10.Given below are four contraceptive methods and their modes of action. Select the corre ch

match.

S.no. | Method ' S.no. | Mode of Action

A Condom ] 1) Ovum not able to reach fallopian tube

B Vasectomy 1) Prevents ovulation

C Pill i) | Prevents sperm reaching the cervix.

D Tubectomy : iv) | Semen contains no sperms

a) A(i), B-(ii), C-(iii), D-(iv) b) A-(ii), B-(iii), C-(iv), D(i)
c) A-(iii), B-(iv), C-(ii), D-(i) d) A-(iv), B-(i), C-(iii), D-(ii) |
11. Interferons are most effective in making non-infected cells resistant against the spread of
which of the following disease in humans?
a) Ascariasis b) Ringworm
c) Amoebiasis d) AIDS
12.The vas deferens receives duct from the seminal vesicle and opens into urethra as- (1)
a) epididymis b) ejaculatory duct
c) efferent ductule -d) ureter |
Question No. 13 to 16 consist of two statements - Assertion (A) and Reason | {I-'
Answer these questions selectmg the appropriate option given below: 3
(a) Both A and R are true and R is the correct explanation of A_
(b) Both A and R are true and R is not the correct explanation of A
(c) A is true but R is false.
(d) A is false but R is true.
13.Assertion: Apomictic fruits are seedless.
Reason : Apomictic fruits are formed without fertilization.
14, Assertion ; the female gamete is produced at the time of puberty.
Reason - Gonadotropin releasmg hormone controls the process of oogenesis
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beings have cellular oncogenes but only & few suffer from cancer. Give
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reptiles, salamanders, lobefins, frogs
b) Name two reproductive characters that probably make reptiles more success

(SECTION-D)
is the diagram of CuT, a commonly used contraceptive method
; mwertheftﬂomm "‘%‘Z“ﬁ‘*“ S




her of one year old daughter wanted to space her m w mm
ested CuT. Explain its contraceptive actions.
 out one main difference between CuT and LNG-20.
{ m'ﬂ'ue names of Intra Uterine Devices along with maraeﬁaﬂ?

vly married couple does not want to produce children at least for one year and
o use any contraceptives. Suggest a method to prevent pregnancy.
yelow is a stretch of DNA showing the coding strand of a structural gene of a
ption unit?
ACC GTA TTT TCT GTA GTG CCC GTA CTT CAG GCA TAA-3'
Wirite the corresponding template strand and the mRNA strand fhat ‘will be transcript
along with its polarity. :
j;. GUA of the transcribed mRNA is an intron, depict the sequence lnvalved in the form
of mRNA /the mature processed hnRNA strand.
.'r In a bacterium

(SECTION -E)
Observe the segment of mMRNA given below.

Intron A

(a) Explain and illustrate the steps involved to make fully processed hnRI
encoding RNA Polymerase | and Ill have been affected by mutation in .

its impact on the synthesis of polypeptide, stating reasons.
OR

and answer the questions that follow:

P MR (- 0 z y

(a) The active site of enzyme permease present in the cell membrane of a
been blocked by an inhibitor, how will it affect the lac operon? o

(b) The protein produced by the i gene has become abnormal due to unknow
Explain its impact on lactose metabolism stating the reason.

(¢) Ifthe nutrient medium for the bacteria contains only galactbgei'ﬁvilﬁéperon HE EXPress

Justify your answer. 4 -




ses. Explain with the help of crosses the ¢

| ' OR ol

a) myfs colorblindness generally observed in human males? Explain the con
under which a human female can be hemophilic. ,

b) A pregnant human female was advised to undergo M TP. It was diagnose

doctor that the foetus she is carrying has developed from a zygote formed by &

egg -fefﬁlis_ed"‘w'yﬁganymg sperms. Why was she advised to undergo M.T.P?

33.a) Name the primates that lived about 15 milion years ago. List their chalSey
features.

r__' b) i) Where was the first man-like animals found?

| ii) Write the order in which Neanderthals, Homo habilis and
on earth. State the brain capacity of ea

iii) When did modern Homo sapiens appe

Homo ere apgp

ch one of them.
ar on earth?

OR




